

A new extended KP hierarchy

Xiaojun Liu^a, Yunbo Zeng^{b,*}, Runliang Lin^b

^a Department of Applied Mathematics, China Agricultural University, Beijing 100083, PR China

^b Department of Mathematical Sciences, Tsinghua University, Beijing 100084, PR China

Received 25 September 2007; received in revised form 27 February 2008; accepted 28 February 2008

Available online 4 March 2008

Communicated by A.R. Bishop

Abstract

A method is proposed to construct a new extended KP hierarchy, which includes two types of KP equation with self-consistent sources and admits reductions to k -constrained KP hierarchy and to Gelfand–Dickey hierarchy with sources. It provides a general way to construct soliton equations with sources and their Lax representations.

© 2008 Elsevier B.V. All rights reserved.

PACS: 02.30.Ik

Keywords: Extended KP hierarchy; KP equation with self-consistent sources; Gelfand–Dickey hierarchy with self-consistent sources; k -constrained KP hierarchy; Lax representation

1. Introduction

Generalizations of KP hierarchy attract a lot of interests from both physical and mathematical points of view [1–10]. One kind of generalization is the so-called multi-component KP (mcKP) hierarchy [1]. The mcKP hierarchy contains many physically relevant nonlinear integrable systems, such as Davey–Stewartson equation, two-dimensional Toda lattice and three-wave resonant interaction ones. There exist several equivalent formulations of this mcKP hierarchy: matrix pseudo-differential operator (Sato) formulation, τ -function approach via matrix Hirota bilinear identities, multi-component free fermion formulation. A coupled KP hierarchy was generated through the procedure of so-called Pfaffianization [11]. It was shown in [12] that this coupled KP hierarchy can be reformulated as a reduced case of the 2-component KP hierarchy. Another kind of generalization of KP equation is the so-called KP equation with self-consistent sources, which was initiated by Mel’nikov [8–10]. For example, the first type of KP equation

with self-consistent sources (KPSCS) reads [8,9,13]

$$(4u_t - 12uu_x - u_{xxx})_x - 3u_{yy} + 4 \sum_{i=1}^N (q_i r_i)_{xx} = 0, \quad (1a)$$

$$q_{i,y} = q_{i,xx} + 2uq_i, \quad i = 1, \dots, N, \quad (1b)$$

$$r_{i,y} = -r_{i,xx} - 2ur_i. \quad (1c)$$

The second type of KPSCS is [8,14]

$$4u_t - 12uu_x - u_{xxx} - 3D^{-1}u_{yy} = 3 \sum_{i=1}^N [q_{i,xx}r_i - q_i r_{i,xx} + (q_i r_i)_y], \quad (2a)$$

$$q_{i,t} = q_{i,xxx} + 3uq_{i,x} + \frac{3}{2}q_i D^{-1}u_y + \frac{3}{2}q_i \sum_{j=1}^N q_j r_j + \frac{3}{2}u_x q_i, \quad (2b)$$

$$r_{i,t} = r_{i,xxx} + 3ur_{i,x} - \frac{3}{2}r_i D^{-1}u_y - \frac{3}{2}r_i \sum_{j=1}^N q_j r_j + \frac{3}{2}u_x r_i, \quad (2c)$$

where D^{-1} stands for the inverse of $\frac{d}{dx}$.

The Lax equation of KP hierarchy is given by (see, e.g., [15])

$$L_{t_n} = [B_n, L], \quad (3)$$

* Corresponding author. Tel.: +86 10 62787874; fax: +86 10 62773400.

E-mail addresses: lxj98@mails.tsinghua.edu.cn (X.J. Liu),

yzeng@math.tsinghua.edu.cn (Y.B. Zeng), rlin@math.tsinghua.edu.cn (R.L. Lin).

where $L = \partial + u_1\partial^{-1} + u_2\partial^{-2} + \dots$ is a pseudo-differential operator with potential functions u_i 's, $B_n = L_n^+$ stands for the differential part of L^n , and $\partial = \frac{d}{dx}$. The notation $u'_i = u_{i,x}$ is used in this letter. The commutativity of ∂_{t_n} flows give rise to the zero-curvature equations of KP hierarchy

$$B_{n,t_k} - B_{k,t_n} + [B_n, B_k] = 0.$$

In this letter, we first introduce a new vector field ∂_{τ_k} which is a linear combination of all vector fields ∂_{t_n} . Then we introduce a new Lax type equation which consist of the τ_k -flow and the evolutions of wave functions. Under the evolutions of wave functions, the commutativity of ∂_{τ_k} -flow and ∂_{t_k} -flows gives rise to a new extended KP hierarchy. This hierarchy enables us to obtain the first and second types of KPSCS (i.e., (1) and (2)) in a different way from those in [8–10,13,14,16] and to get their Lax representations directly. This implies that the new extended KP hierarchy obtained in this letter is different from the mKP hierarchy given in [1]. Moreover, this new extended KP hierarchy can be reduced to two integrable hierarchies, i.e., the Gelfand–Dickey hierarchy with self-consistent source (GDHWS) [17] and the k -constrained KP hierarchy (k -KPH) [18,19]. The GDHWS includes the first type of KdV equation with self-consistent sources and the first type of Boussinesq equation with self-consistent sources. While, the k -KPH includes the second type of KdV equation with self-consistent sources (the Yajima–Oikawa equation) and the second type of Boussinesq equation with self-consistent sources. Thus, the method proposed in this letter to construct the new extended KP hierarchy provides a general way to find soliton equation with self-consistent sources as well as their Lax representations. Our letter will be organized as follows. In Section 2, we construct the new extended KP hierarchy and show that it contains the first and second types of KPSCS. In Section 3, the new extended KP hierarchy is reduced to the Gelfand–Dickey hierarchy with self-consistent source and the k -constrained KP hierarchy. In Section 4, some conclusions are given.

2. New extended KP hierarchy

With the help of formal dressing method, the L operator for KP hierarchy can be written in the following form [15]

$$L = \phi\partial\phi^{-1}, \quad \phi = 1 + w_1\partial^{-1} + w_2\partial^{-2} + \dots \tag{4}$$

And the evolution of the dressing operator ϕ is given by

$$\phi_{t_n} = -L_n^-\phi. \tag{5}$$

The wave function and the adjoint one are then given by

$$\begin{aligned} \omega(t, z) &= \phi \exp(\xi(t, z)), \\ \omega^*(t, z) &= (\phi^*)^{-1} \exp(-\xi(t, z)), \end{aligned}$$

where $\xi(t, z) = \sum_{i>0} t_i z^i$. They satisfy the following equations

$$L\omega(t, z) = z\omega(t, z), \quad \frac{\partial}{\partial t_n} \omega(t, z) = B_n(\omega(t, z)), \tag{6a}$$

$$L^* \omega^*(t, z) = z\omega^*(t, z),$$

$$\frac{\partial}{\partial t_n} w^*(t, z) = -B_n^*(w^*(t, z)). \tag{6b}$$

It was proved in [15] that the principle part of the resolvent defined by

$$T(z)_- = \sum_{i \in \mathbb{Z}} L_-^i z^{-i-1}, \tag{7a}$$

can be written as

$$T(z)_- = w(t, z)\partial^{-1}w^*(t, z). \tag{7b}$$

For any fixed $k \in \mathbb{N}$, we define a new variable τ_k whose vector field is

$$\partial_{\tau_k} = \partial_{t_k} - \sum_{i=1}^N \sum_{s \geq 0} \zeta_i^{-s-1} \partial_{t_s},$$

where ζ_i 's are arbitrary distinct non-zero parameters. The τ_k -flow is given by

$$\begin{aligned} L_{\tau_k} &= \partial_{t_k} L - \sum_{i=1}^N \sum_{s \geq 1} \zeta_i^{-s-1} \partial_{t_s} L \\ &= [B_k, L] - \sum_{i=1}^N \sum_{s \geq 0} \zeta_i^{-s-1} [B_s, L] \\ &= [B_k, L] + \sum_{i=1}^N \sum_{s \in \mathbb{N}} \zeta_i^{-s-1} [L_-^s, L]. \end{aligned}$$

Define \tilde{B}_k by

$$\tilde{B}_k = B_k + \sum_{i=1}^N \sum_{s \in \mathbb{Z}} \zeta_i^{-s-1} L_-^s,$$

which, according to (7), can be written as

$$\tilde{B}_k = B_k + \sum_{i=1}^N w(t, \zeta_i)\partial^{-1}w^*(t, \zeta_i).$$

By setting $q_i = w(t, \zeta_i)$, $r_i = w^*(t, \zeta_i)$, we have

$$\tilde{B}_k = B_k + \sum_{i=1}^N q_i \partial^{-1} r_i, \tag{8a}$$

where q_i and r_i satisfy the following equations

$$q_{i,t_n} = B_n(q_i), \quad r_{i,t_n} = -B_n^*(r_i), \quad i = 1, \dots, N. \tag{8b}$$

Now we introduce a new Lax type equation given by

$$L_{\tau_k} = \left[B_k + \sum_{i=1}^N q_i \partial^{-1} r_i, L \right], \tag{9a}$$

with

$$q_{i,t_n} = B_n(q_i), \quad r_{i,t_n} = -B_n^*(r_i), \quad i = 1, \dots, N. \tag{9b}$$

We have the following lemma [20].

Lemma 1. $[B_n, q\partial^{-1}r]_- = B_n(q)\partial^{-1}r - q\partial^{-1}B_n^*(r)$.

Proof. Without loss of generality, we consider a monomial: $P = a\partial^n$ ($n \geq 0$). Then

$$[P, q\partial^{-1}r]_- = aq^{(n)}\partial^{-1}r - (q\partial^{-1}ra\partial^n)_-$$

Notice that the second term can be rewritten in the following way

$$\begin{aligned} (q\partial^{-1}ra\partial^n)_- &= (q\partial^{-1}\partial(ra)\partial^{n-1} - q\partial^{-1}(ra)'\partial^{n-1})_- \\ &= (-q\partial^{-1}(ra)'\partial^{n-1})_- = \dots \\ &= (-1)^n q\partial^{-1}(ar)^{(n)} = q\partial^{-1}P^*(r), \end{aligned}$$

then the lemma is proved. \square

Proposition 1. (3) and (9) give rise to the following new extended KP hierarchy

$$\begin{aligned} B_{n,\tau_k} - \left(B_k + \sum_{i=1}^N q_i \partial^{-1} r_i \right)_{t_n} \\ + \left[B_n, B_k + \sum_{i=1}^N q_i \partial^{-1} r_i \right] = 0, \end{aligned} \tag{10a}$$

$$q_{i,t_n} = B_n(q_i), \tag{10b}$$

$$r_{i,t_n} = -B_n^*(r_i), \quad i = 1, \dots, N. \tag{10c}$$

Proof. We will show that under (9b), (3) and (9a) give rise to (10a). For convenience, we assume $N = 1$, and denote q_1 and r_1 by q and r , respectively. By (3), (9) and Lemma 1, we have

$$\begin{aligned} B_{n,\tau_k} &= (L_{\tau_k}^n)_+ \\ &= [B_k + q\partial^{-1}r, L^n]_+ \\ &= [B_k + q\partial^{-1}r, L^n_+]_+ + [B_k + q\partial^{-1}r, L^n_-]_+ \\ &= [B_k + q\partial^{-1}r, L^n_+] - [B_k + q\partial^{-1}r, L^n_+]_- + [B_k, L^n_-]_+ \\ &= [B_k + q\partial^{-1}r, B_n] - [q\partial^{-1}r, B_n]_- + [B_n, L^k]_+ \\ &= [B_k + q\partial^{-1}r, B_n] + B_n(q)\partial^{-1}r - q\partial^{-1}B_n^*(r) + B_{k,t_n} \\ &= [B_k + q\partial^{-1}r, B_n] + (B_k + q\partial^{-1}r)_{t_n}. \quad \square \end{aligned}$$

Under (10a) and (10c), the Lax representation for (10a) is given by

$$\psi_{\tau_k} = \left(B_k + \sum_{i=1}^N q_i \partial^{-1} r_i \right) (\psi), \tag{11a}$$

$$\psi_{t_n} = B_n(\psi). \tag{11b}$$

Now, we list some examples in the new extended KP hierarchy (10).

Example 1 (The first type of KPSCS). For $n = 2$ and $k = 3$, (10) yields

$$\begin{aligned} u_{1,y} - u_1'' - 2u_2' &= 0, \\ 2u_{1,t} - 3(u_2 + u_1')_{t_2} + 3u_2'' + u_1''' \end{aligned} \tag{12a}$$

$$-6u_1u_1' + 2\sum_{i=1}^N (q_i r_i)' = 0, \tag{12b}$$

$$q_{i,t_2} = q_i'' + 2u_1q_i, \quad r_{i,t_2} = -r_i'' - 2u_1r_i. \tag{12c}$$

Set $y := t_2$, $t := \tau_3$, $u := u_1$, and eliminate u_2 by differentiating the second equation with respect to x , we get the first type of KP equation with self-consistent sources (1). The Lax representation of (1a) is

$$\begin{aligned} \psi_y &= (\partial^2 + 2u)(\psi), \\ \psi_t &= \left(\partial^3 + 3u\partial + \left(\frac{3}{2}D^{-1}u_y + \frac{3}{2}u_x \right) + \sum_{i=1}^N q_i \partial^{-1} r_i \right) (\psi). \end{aligned}$$

Example 2 (The second type of KPSCS). For $n = 3$ and $k = 2$, (10) yields

$$u_{1,y} + \sum_{i=1}^N (q_i r_i)' - u_1'' - 2u_2' = 0, \tag{13a}$$

$$\begin{aligned} 3(u_2 + u_1')_y - 2u_{1,t} - u_1''' + 3\sum_{i=1}^N (q_i' r_i)' \\ + 6u_1u_1' - 3u_2'' = 0, \end{aligned} \tag{13b}$$

$$q_{i,t_3} = q_{i,xxx} + 3u_1q_{i,x} + (3u_2 + 3u_1')q_i, \tag{13c}$$

$$r_{i,t_3} = r_{i,xxx} + 3u_1r_{i,x} - 3u_2r_i. \tag{13d}$$

Let $y := \tau_2$, $t := t_3$, $u := u_1$, and eliminate u_2 by integrating the first equation with respect to x , we get the second type of KP-SCS (2). This equation was introduced in [8], and rediscovered by source generating method [14]. Under (13c) and (13d), the Lax representation for (2a) is

$$\begin{aligned} \psi_y &= \left(\partial^2 + 2u + \sum_{i=1}^N q_i \partial^{-1} r_i \right) (\psi), \\ \psi_t &= \left(\partial^3 + 3u\partial + \left(\frac{3}{2}D^{-1}u_y + \frac{3}{2}u_x + \frac{3}{2}\sum_{i=1}^N q_i r_i \right) \right) (\psi). \end{aligned}$$

Example 3. For $n = 4$, $k = 2$, and $N = 1$, (10) gives higher order equations

$$\begin{aligned} u_{1,y} - u_{1,xx} - 2u_{2,x} + (qr)' &= 0, \\ 2u_{2,y} + 3u_{1,xy} + 3(qr)'' - 2(qr)'' + 8u_1u_{1,x} \\ - 3u_{1,xxx} - 4u_{3,x} - 8u_{2,xx} &= 0, \\ 2u_{3,y} + 3u_{2,xy} + 2u_{1,xyy} - u_{1,t} + 2(qr)''' \\ - 3(qr)''' + 2(qr)'' + 4u_1u_{1,xx} \\ + 4u_1(qr)' + 4u_{1,x}u_2 + 6(u_{1,x})^2 \\ - 2u_{3,xx} - 3u_{2,xxx} - u_{1,xxxx} &= 0, \\ q_t &= (\partial^4 + 4u_1\partial^2 + (4u_2 + 6u_1')\partial \\ + (4u_3 + 6u_2' + 4u_1'' + 6u_1^2))q, \\ r_t &= -(\partial^4 + 4u_1\partial^2 + (4u_2 + 6u_1')\partial \\ + (4u_3 + 6u_2' + 4u_1''))^*r. \end{aligned}$$

Here $y := \tau_2, t := t_4$. By using

$$\begin{aligned} 2u_2 &= D^{-1}u_{1,y} - u_{1,x} + qr, \\ 4u_{3,x} &= D^{-1}u_{1,yy} - 2u_{1,xy} + (qr)_y + 4(qr)_{xx} \\ &\quad - 2(qr_x)_x + 8u_1u_{1,x} + u_{1,xxx} \end{aligned}$$

the equations yield

$$\begin{aligned} &\frac{1}{2}D^{-1}u_{1,yyy} + 2(u_1^2)_{xy} + \frac{1}{2}u_{1,xxxy} + \frac{3}{2}u_{1,xy} - u_{1,x} \\ &\quad + 6(u_{1,x}^2)_x + 4u_1u_{1,xxx} + 2u_{1,x}u_{1,y} \\ &\quad + 2u_{1,xx}D^{-1}u_{1,y} - \frac{3}{2}u_{1,xyy} - 2(u_1^2)_{xxx} \\ &\quad + \frac{1}{2}(qr)_{yy} + 3(qr)_{xxy} - (qr_x)_{xy} - 2(q_xr_x)_{xx} \\ &\quad + 6u_{1,x}(qr)_x + 4u_1(qr)_{xx} + 2u_{1,xx}qr - \frac{3}{2}(qr)_{xxx} = 0, \\ q_t &= (\partial^4 + 4u_1\partial^2 + (4u_2 + 6u_1')\partial + (4u_3 + 6u_2' + 4u_1''))q, \\ r_t &= -(\partial^4 + 4u_1\partial^2 + (4u_2 + 6u_1')\partial + (4u_3 + 6u_2' + 4u_1''))^*r. \end{aligned}$$

3. Reductions

The new extended KP hierarchy (10) admits reductions to several well-known (1 + 1)-dimensional systems.

3.1. The n -reduction of (10)

The n -reduction is given by

$$L^n = B_n \quad \text{or} \quad L_-^n = 0, \tag{14}$$

then (6) implies that

$$B_n(q_i) = L^n q_i = \zeta_i^n q_i, \tag{15a}$$

$$-B_n^*(r_i) = -L^{n*} r_i = -\zeta_i^n r_i. \tag{15b}$$

By using Lemma 1 and (15), we can see that the constraint (14) is invariant under the τ_k flow

$$\begin{aligned} (L_-^n)_{\tau_k} &= [B_k, L_-^n]_- + \sum_{i=1}^N [q_i \partial^{-1} r_i, L_-^n]_- \\ &= [B_k, L_-^n]_- + \sum_{i=1}^N [q_i \partial^{-1} r_i, L_+^n]_- \\ &\quad + \sum_{i=1}^N [q_i \partial^{-1} r_i, L_-^n]_- \\ &= \sum_{i=1}^N [q_i \partial^{-1} r_i, B_n]_- \\ &= - \sum_{i=1}^N (q_{i,t_n} \partial^{-1} r_i + q_i \partial^{-1} r_{i,t_n}) \end{aligned} \tag{16}$$

$$= - \sum_{i=1}^N (\zeta_i^n q_i \partial^{-1} r_i - \zeta_i^n q_i \partial^{-1} r_i) = 0. \tag{17}$$

Eqs. (14) and (5) imply that $\phi_{t_n} = 0$, so $(L^k)_{t_n} = 0$, which together with (17) means that one can drop t_n dependency from (10) and obtain

$$B_{n,\tau_k} = \left[(B_n)_{\tau_k}^+ + \sum_{i=1}^N q_i \partial^{-1} r_i, B_n \right], \tag{18a}$$

$$B_n(q_i) = \zeta_i^n q_i, \tag{18b}$$

$$B_n^*(r_i) = -\zeta_i^n r_i, \quad i = 1, \dots, N. \tag{18c}$$

The system (18) is the so-called Gelfand–Dickey hierarchy with self-consistent sources [17].

For $n = 2$ and $k = 3$, (18) presents the first type of KdV equation with self-consistent sources ($t := \tau_3, u := u_1$)

$$u_t - 3uu_x - \frac{1}{4}u_{xxx} + \sum_{i=1}^N (q_i r_i)_x = 0,$$

$$q_{i,xx} + 2uq_i = \zeta_i^2 q_i,$$

$$r_{i,xx} + 2ur_i = \zeta_i^2 r_i, \quad i = 1, \dots, N,$$

with Lax representation

$$(\partial^2 + 2u)(\psi) = \lambda \psi,$$

$$\psi_t = \left(\partial^3 + 3u\partial + \frac{3}{2}u' + \sum_{i=1}^N q_i \partial^{-1} r_i \right) (\psi).$$

The first type of KdV equation with self-consistent sources can be solved by the inverse scattering method [10,21] and by the Darboux transformation (see [22] and the references therein).

For $n = 3$ and $k = 2$, (18) presents the first type of Boussinesq equation with self-consistent sources ($t := \tau_2, u := u_1$)

$$\begin{aligned} u_{tt} + \frac{1}{3}u_{xxxx} + 2(u^2)_{xx} + \sum_{i=1}^N (q_{i,x}r_i - q_i r_{i,x})_{xx} \\ + \sum_{i=1}^N (q_i r_i)_{xt} = 0, \end{aligned}$$

$$q_{i,xxx} + 3uq_{i,x} + q_i \left(\frac{3}{2}D^{-1}u_y + \frac{3}{2}u_x + \frac{3}{2} \sum_{j=1}^N q_j r_j \right) = \zeta_i^3 q_i,$$

$$r_{i,xxx} + 3ur_{i,x} - r_i \left(\frac{3}{2}D^{-1}u_y - \frac{3}{2}u_x + \frac{3}{2} \sum_{j=1}^N q_j r_j \right) = \zeta_i^3 r_i,$$

$$i = 1, \dots, N,$$

with Lax representation

$$(\partial^3 + 3u_1\partial + 3u_2 + 3u_{1,x})(\psi) = \lambda \psi,$$

$$\psi_t = \left(\partial^2 + 2u_1 + \sum_{i=1}^N q_i \partial^{-1} r_i \right) (\psi).$$

3.2. The k -constrained hierarchy of (10)

The k -constraint is given by [18–20].

$$L^k = B_k + \sum_{i=1}^N q_i \partial^{-1} r_i.$$

By dropping τ_k dependency from (10), we get

$$\begin{aligned} & \left(B_k + \sum_{i=1}^N q_i \partial^{-1} r_i \right)_{t_n} \\ &= \left[\left(B_k + \sum_{i=1}^N q_i \partial^{-1} r_i \right)_+^{\frac{n}{k}}, B_k + \sum_{i=1}^N q_i \partial^{-1} r_i \right], \end{aligned} \quad (19a)$$

$$q_{i,t_n} = \left(B_k + \sum_{j=1}^N q_j \partial^{-1} r_j \right)_+^{\frac{n}{k}} (q_i), \quad (19b)$$

$$r_{i,t_n} = - \left(B_k + \sum_{j=1}^N q_j \partial^{-1} r_j \right)_+^{\frac{n}{k}*} (r_i), \quad i = 1, \dots, N, \quad (19c)$$

which is the so-called k -constrained KP hierarchy [18–20].

For $k = 2$ and $n = 3$, (19) gives rise to the second type of KdV equation with self-consistent sources.

$$\begin{aligned} u_t &= \frac{1}{4} u_{xxx} + 3uu_x + \frac{3}{4} \sum_{i=1}^N (q_{i,xx} r_i - q_i r_{i,xx}), \\ q_{i,t} &= q_{i,xxx} + 3uq_{i,x} + \frac{3}{2} q_i \sum_{j=1}^N q_j r_j + \frac{3}{2} u_x q_i, \\ r_{i,t} &= r_{i,xxx} + 3ur_{i,x} - \frac{3}{2} r_i \sum_{j=1}^N q_j r_j + \frac{3}{2} u_x r_i, \quad i = 1, \dots, N. \end{aligned}$$

For $k = 3$ and $n = 2$, (19) gives rise to the second type of Boussinesq equation with self-consistent sources.

$$\begin{aligned} u_{tt} + \frac{1}{3} u_{xxxx} + 2(u^2)_{xx} - \frac{4}{3} \sum_{i=1}^N (q_i r_i)_{xx} &= 0, \\ q_{i,t} &= q_{i,xx} + 2uq_i, \\ r_{i,t} &= -r_{i,xx} - 2ur_i, \quad i = 1, \dots, N. \end{aligned}$$

4. Conclusions

A method is proposed in this letter to construct a new extended KP hierarchy, which enables us to find the first and second types of KPSCS (i.e., (1) and (2)) in a different way from those in [8–10,13,14] and to get their Lax representations directly. The new extended KP hierarchy offers natural reductions to the well-known Gelfand–Dickey hierarchy with self-consistent sources and to the k -constrained KP hierarchy.

The k -constrained KP hierarchy includes the second type of KdV equation with self-consistent sources (the Yajima–Oikawa equation) and the second type of Boussinesq equation with self-consistent sources. The method proposed here provides a general way to construct the soliton equations with self-consistent sources and their Lax representations. This approach for constructing extended hierarchies can be applied to other $(2 + 1)$ -dimensional systems (such as mKP, BKP, CKP, etc.) and semi-discrete systems (e.g., two-dimensional Toda lattice hierarchy). We will present some other new extended hierarchies in the forthcoming paper.

Acknowledgements

This work was supported by National Basic Research Program of China (973 Program) (2007CB814800) and National Natural Science Foundation of China (grand No. 10601028).

References

- [1] E. Date, M. Jimbo, M. Kashiwara, T. Miwa, J. Phys. Soc. Jpn. 50 (11) (1981) 3806.
- [2] M. Jimbo, T. Miwa, Publ. Res. Inst. Math. Sci. 19 (3) (1983) 943.
- [3] M. Sato, Y. Sato, in: Nonlinear Partial Differential Equations in Applied Science, Tokyo, 1982, North-Holland, Amsterdam, 1983, pp. 259–271.
- [4] E. Date, M. Jimbo, M. Kashiwara, T. Miwa, Publ. Res. Inst. Math. Sci. 18 (3) (1982) 1077.
- [5] V.G. Kac, J.W. van de Leur, J. Math. Phys. 44 (8) (2003) 3245.
- [6] J. van de Leur, J. Math. Phys. 39 (5) (1998) 2833.
- [7] H. Aratyn, E. Nissimov, S. Pacheva, Phys. Lett. A 244 (4) (1998) 245.
- [8] V.K. Mel’nikov, Lett. Math. Phys. 7 (2) (1983) 129.
- [9] V.K. Mel’nikov, Commun. Math. Phys. 112 (4) (1987) 639.
- [10] V.K. Mel’nikov, Phys. Lett. A 128 (9) (1988) 488.
- [11] R. Hirota, Y. Ohta, J. Phys. Soc. Jpn. 60 (3) (1991) 798.
- [12] S. Kakei, Phys. Lett. A 264 (6) (2000) 449.
- [13] T. Xiao, Y. Zeng, J. Phys. A 37 (28) (2004) 7143.
- [14] H.-Y. Wang, Some Studies on Soliton Equations with Self-consistent Sources, Ph.D. thesis, Academy of Mathematics and System Science, Chinese Academy of Sciences, 2007.
- [15] L.A. Dickey, Soliton Equations and Hamiltonian Systems, second ed., World Scientific Publishing, River Edge, NJ, 2003.
- [16] T. Xiao, Y.B. Zeng, Physica A 353 (2005) 38.
- [17] M. Antonowicz, Phys. Lett. A 165 (1) (1992) 47.
- [18] B. Konopelchenko, J. Sidorenko, W. Strampp, Phys. Lett. A 157 (1) (1991) 17.
- [19] Y. Cheng, J. Math. Phys. 33 (11) (1992) 3774.
- [20] L.A. Dickey, Lett. Math. Phys. 34 (4) (1995) 379.
- [21] R.L. Lin, Y.B. Zeng, W.-X. Ma, Physica A 291 (2001) 287.
- [22] R.L. Lin, H.S. Yao, Y.B. Zeng, Symmetry Integrability Geom.: Methods Appl. 2 (2006) 096.